')
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— oreparmii o CKOOKaMu

Nwms: Jara: Orenka:

2 3
41%9+3-5(3-3,1) = 77 20+5+4(4,6-5) =

I 3 _ _
499X10+2_3(§+Z): (3,2 3,2)X5+3,9

3 1 3
Zx8+2-3(=—3,2)= Zx8+2-2(4,9+3,6) =
1 1 5,5-3(2,2—-5,9)=
_—354—_: 5 b b

4 (7 3)

1 1

X 12+3+5(5-23) = - 42 7-5.7) =
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Nwms: Hara:_ Omenka:
4,1X9+3—5(§—3,1)=%=24% %X2O+5+4(4,6—5)=g=1§
4,9X10+2—3(%+%)=%=21% (3,2—3,2)X5+3,9=%9)-=3%
§><8+2—3(%—3,2)= 11 §><8+2—2(4,9+3,6)=(—75—3)= (—142)
%—3(5,4— %)=(—%)= (—14%9)-) 5,5-3(2,2—-5,9) = 85—3 = 16%
%X12+3+5(5—2,3)=%=14% %—4(2,7—5,7)=%=12%
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